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@ {A+(-B)}+C=A+{B+C}
@(A+B)+(—C) =A+{B+(-0)}
® A-(B+C)=(A-B)+C

@® A+B+C=A+C+B

® A+ (-B)+C=C+(-B)+A

B

@ {A+(-B)} +C=A+{(-B)+C}
@A-B+C)=(A-B)-C = ®Wio] Z3H AJA=
A o] J-stA =

@A+B+C=A+C+B = nggzo|r},

@A+ (-B)+C=C+(-B)+ A = w&Hojc},
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+17) = (=18) = (—18)+(+17)—(—18)—(+15) j@
+15) ’:ET AetE T Z(L18)+ (+17)+(+18)+(+15) :I
O]:}' Age® S8 X _((C18)4(+18)|+(+17)+(+15)
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—18) + (4+17) — (~18) — (+15)
-18) + (+17) + (+18) + (-15)
(-18) + (+18)} + (+17) + (-15)
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—2H”T 6WE & =2

® 3 @)4 ® 5
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—2HT 69 & FolBR
(=2) + (+6) = +(6 - 2) = +4 °|t.




